IB Math HL2:  Chapter 25 Exam

                              Name: ____________________ Period: ____
Calculator is allowed.  Full credits are not necessarily awarded for a correct answer with no work. Answers must be supported by working and/or explanations. Unless otherwise stated in the question, all numerical answers should be given exactly or rounded to 3.s.f. Only one file submitted will be graded.  Do not email many images of the photos. 
1. A probability distribution function is defined by the table below (all answers in exact)
	x
	-2
	0
	1
	2
	4

	P(X=x)
	1/9
	5/18
	5/18
	1/9
	k


a. Find k [1] :  __________       


b.  
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 [2]:   ___________  

c.  
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[2]:    __________ 


d. 
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-

[2]: __________

2.  An alarm clock is used to wake a swimmer for early morning training.  The probability that the alarm rings is
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.  If the alarm rings, there is probability 
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 that the swimmer arrives for training, but if the alarm does not ring, the probability that the swimmer arrives for training is 
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.  
a)  Find the probability that the swimmer arrives for early morning training on a given day. [2]   2 a) _________________________
b)  Find the probability that, on a randomly chosen morning on which the swimmer does not arrive for training.  The alarm did not ring.   
[3]


2 b)_____________
3. The probability that a storm trooper has passed the marksmanship test is 15%. In a group of 30 randomly chosen storm troopers, 

a. What is the probability that exactly 10 of these storm troopers passed the marksmanship test?    











 a. ______________[2]

b. What is the probability that at least 3 of these storm troopers passed the marksmanship test?
   











b. ______________[3]
c. Approximate the mean and standard deviation for the above given storm trooper scenario?




 c) Mean; ___________________[1]  Standard deviation: ________________ [1]
4.  Casualties arrive at an accident unit with a mean rate of one every 12 minutes.  Assume that the number of arrivals can be modeled by a Poisson distribution.
a)  Find the probability that there are no arrivals in a given half hour period.  [2]












Answer: _____________
b)  A nurse works for a two hour period.  Find the probability that there are fewer than ten casualties during this period.  [4]

c)  Calculate the time interval during which there is a 95% chance of there being at least two casualties.  Must show the work such as the equation and the graph (if used) [5]
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